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Sarah used all her breath to blow up 
two floats and two life vests. How 
many water items did she blow up in 
all?

Mary ate 6 carrots. Then she ate 4 
more carrots. How many carrots did 
she eat in all?

41
6+

25 -  = 21 7
1-

Ava made five apple 
pies. Sara made three 
cherry pies. Anna 
made one pumpkin pie.
How many pies did 
they make in all?

There are 7 chocolate 
ice cream sodas on 
the table. There are 9 
vanilla ice cream sodas 
on the table. How 
many more vanilla 
sodas are there?

Kayla picked some 
flowers for her mother. 
She picked 8 yellow 
flowers. She picked 4 
red flowers. She picked 
5 blue flowers. She 
picked 7 pink flowers. 
How many flowers did 
she pick in all?

95, ,  ,  ,  

, ,  101

How many nickels do you 
need if you want to have 
exactly 25 cents? 3

7+

Count by 3s.

10 13
word root act can mean do or drive actor, action

4 + 3 = 9 + 6 = 3 + 9 = 3 + 4 =
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Megan has two tomato 
plants. There are 3 ripe 
tomatoes on one plant. 
There are 5 ripe 
tomatoes on the other 
plant. How many ripe 
tomatoes are there in 
all?

There were six pink 
bears on the shelf. Mrs. 
Walker put four more 
bears on the shelf. 
How many bears are 
on the shelf now?

Kevin loves oatmeal. 
He eats it every day. 
On Monday he ate 3 
bowls of it. On Tuesday 
he ate 2 bowls of 
oatmeal. On 
Wednesday he ate 3 
more bowls. On 
Thursday he ate 1 bowl. 
On Friday he ate 2 
bowls. How many 
bowls of oatmeal did 
he eat in all?

57, ,  59, 60, ,  

,  

What is ten more than 84?
C,  G,  K,  ,   S,  W

Robert hopes to have 
a green truck someday.
He saw eight trucks 
today. Five of the 
trucks Robert saw 
were not green. How 
many of the trucks that 
Robert saw were 
green?

There are 5 chocolate 
ice cream sodas on 
the table. There are 9 
vanilla ice cream sodas 
on the table. How 
many more vanilla 
sodas are there?

Jason found 4 cans, 2 
toys, 12 plastic bags, 
and some paper in the 
creek. Robert found 5 
toys, 6 cans, 11 plastic 
bags, and 3 nickels. 
How many plastic bags 
did they find in all?

11 - 4 = ______

7 12 13

6 is more than

7 5 6

8 is more than

9 8 7
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Six people sat on a 
bench. Three of them 
left. How many people 
are still sitting on the 
bench?

Robert bought 5 ice 
cream sodas. He gave 
3 sodas to his brother. 
How many sodas are 
left?

There were two bags 
of cotton candy on the 
table. Then four more 
bags were put on the 
table. How many bags 
were on the table 
then?

17, ,  ,  20, ,  22
Double five.

01
7-

Jason planted an oak 
tree in his yard. It was 
2 feet tall. It grew and 
grew. One year later 
the tree was 5 feet tall. 
How many feet did the 
tree grow in one year?

It took Emily 14 minutes 
to drink her soda. It 
took Jack 8 minutes. 
How many minutes 
more did it take Emily?

Amy has fourteen 
books. Three books 
have red covers. How 
many books do not 
have red covers?

What is ten less than 54?
44 -  = 34 38, 39, 40, ,  ,  

Write <, >, or =.

75 50 63 63 26 23
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Jenna asked Nathan how many cows he saw.
He said there were fewer than 16. There 
were more than 14. How many cows did 
Nathan see?

Mr. Smith made 16 cookies. His wife made 5 
cups of pudding. Amy ate 3 cookies. How 
many cookies were left?

Alex walked 8 blocks to the pool. Emma 
walked 3 blocks to the pool. How many more 
blocks did Alex walk?

April is losing her baby teeth. Last year she 
had 16 baby teeth. Three of her baby teeth 
fell out. How many baby teeth does she have 
left?

Which shows a way to 
make 12?

3 + 9 11 + 4

3 + 2 8 + 6

Circle the two numbers that make 6.

5 4 2 3 5 3

3 4 5 1 5 4 3 3

0 1 2 3 4 5 6 7 8

4 + = 5

Write the missing sign.

11 8 = 19

Peter has two cats. He 
also has one dog. 
How many pets does 
he have in all?

He has
pets.

seven

3 + 7 =
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